b

" .inll
Join Telegram Group "HaryanadJobs

CMms _
L Accmding to Mary, ¢h S
: ion i < . .1€ OWners of the means 1. W % IguR, ws ffli?qrq:,-&;
?;f':dlilcno ina Society area called rfers wATR | N
roletariat (B) Bourgeoisje (A) wdery (B) Yeftufy
(C) Vassals (D) None of these (% i (D) Wﬁﬂ%ﬁqﬁ
2. Which of the following Constitution i the 2. PR i & FH-
- 2: - aﬂ
longest Written Constitution i the world ? : il ﬁlﬁ‘ﬂ“ﬁmt ? s ™
(A) American, Constitution (A) :ﬂﬂﬂq,—.mﬁqn
(B) German Constitution m (B) S wfiyy
(C) French Constitution ﬁ (C) e sy
(D) None of the aboye IR I N T
3. is a very high Speed, expensive Qﬂ Rﬂﬁﬁﬁ”ﬁfﬁ‘?ﬁﬁﬂﬁﬁt
Piece of Memory, which is yseq to speed up ﬁmmﬂﬁﬂmmﬁﬁﬁ%fm
the rnemory-retrlev_al process, L4
(A) Cache Memor T kg
(B)' Read only Memory (Rowm) - (B) 0T 3it=t imyay (ROM)
o (C) econdary Memory (C) ﬁ?ﬂ'ﬂiﬁﬁ
298 (D) Random Access Memary (RAM) (D) ﬁﬂ‘lﬁa L i (RAM)
W 4. Inaclass of 6o, Where girls are tyice that of ‘ 60 I T ey gt TS A I
boys, Nitish ranked seventeenth from the top, [\ i WWWRW#W{! | af A @
@ Q‘"\ If there are 9 gi(2 ahead of Nitish, how many e, . amYe %t §, o) TEH 1 191 373
R.3 boysare after him in the rank » Mg :
ik b\@ “°(a) 23 (B) 7 (A) 23 (8) 7 m
f (C) 3 (D) 12 ( (D) 12
S. If the female Rarent bears_bisexual flow, % T IR B oy &t 8,
remova 1S from the flower hud hefore Wﬁﬁ#%ﬁ:’r# il 1 I7FIT
the anther i using a pair o Epslis | m%wmﬁﬂm%ma%mm? s
ne_m_simThi@Pisre\_ ferre : %wrﬂfr_.____________mmamél
\N) ~w- (A) Emasculation ;g}) g_a?@"’f
- (B) Bagging
B () Artificial hybridisation {f;; ﬁ;mﬁliméiﬁri
,/@ (D) Glycobasilisation
6 Scheme s being efficiently 6. — A ST} %
A .y i 5 E 2 maﬁ%waﬁfﬁnmﬁ
implemented and has Succeeded in achjey ng ChP Wﬁﬁ—ﬂw
—7 s oblective ofstabilsing pricesof s ) e e iy
(A) Bharat Stabilization Fund (BSF) (A) W:JTJUT% (NSF)
(8) Nation stabilization Fund () T s Rt Fifl (ps) |
(C) Price Stabilization Fund (psF) L3 {1[;; il 5 8 535 ol J
. he above ' . -
(D) None of the a & 7, TS T i gy B
7. The State of Nagaland created jn ( T ‘5] 1987 !
' 1963 (B) 1987 AR Ok D) 1985%
(A) (D) 1985 | S 1572
(C) 1972
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9 +2x27+9
18 +7.5x% 5 - 4
(A) 6.8 (B) 2.5
(C) 4.5 (D) 5.7
9, is the starting paint or a doorwav
“to the Web site
(A) Hyperlink (B) 'vaertext
(C) Web page (D) Home page
10. Complete the foilnwmg analogy :
Paw : Cat:: Hoof : ?
(A) Lion (B) Elephant
(C) Horse (D) Lamb
11. Who among the following is the Indian member
ofthe International Courtiof Justice!(ICJ) ?

(A). Harish Salve
(C) NiV:Ramana

(8) Dalveer-Bhandari
(D) None of the above

12. The Cyber Lawisa subject comes under
(A)"Residuary/Powers(B) : UnionList
(C). Concurrent List (D) State List

-

If: ‘how are‘you’ is written as ‘ne ki se’ and:
w’here are you' as ‘ne bl se’.and 'you were
hgre as ‘keme jo', then ‘you®is written as:
lA) Bl ~(B) ki ~ N
lC) se (D) ne '}‘{'?‘ \5.5_ 3
Which of the:following States hasdlaunched |
Pran Vayu' Devta Penslon S’theme (PVDPS) ? ¢
(A) Sikkim™ - (B): Maharashtra PG |
(C) Haryana (D) None ofithe above' J

13.

14,

15. Aluminum phosphide is useq,as
(A) Solid mass

(B) Fumigants :
(C), Emulsifible concentrates: #'y,
(D) Water.soluble.cpncentmtes < B0

i
i

T

16. Five persons were playing card game sitting
in a circle all facing the centre. Mukund was
to the left of Rajesh, Vijay was to the right of
Anil and between'Anil.and Nagesh. Who was
to the right gf Nagesh ?

(A) Mukund

(8) Anil

L'égra Group_é%ryan%[l@bs.in"
SN

—— ',y,.- :

(C) Rajesh

(D). Vijay _
.P\

cmms:‘é's*ﬁ

41_

9+2x27+9
18+7.5x5+4
(A) 6.8 (B) 2.5
/uou.s (D571t 18
9. ¥a | ¥ frg i fog W T
e Al
(A) (8) TERREE T
AL (D) B A
10. ﬁﬂ%ﬁﬁwwiﬁﬁn
e : foreeft ;|
(M) (8) wmeht
(D) WY

11. ﬁﬂ%ﬁaﬁ%mm@uwm)ﬂ

S NTdEERE R Y
(A) & T Aﬁﬂtmﬂ
(C)-@A.a. T (D) I90 o & < T
12) TR A 1 fora foreh Sfeia AR
(A) srafire wfawl - (B) qu gt
oy amarti e (D) Tt

13. i‘ﬂﬁ ‘how aré vou ‘Hlne klse’ 3T ‘where are
.you! 1 ‘nebl’ se’ 3fiT ‘you were here/ @ ‘ke ne

jo’, ﬁmm% @ ‘you'’ Eﬁtﬁmm%
(8) ki

J

“\

& (A) bl
ﬁ' 5 (C) sey a,& 0 -
1'4""f-_ ""ﬁ'ﬂ %mmmﬁm
@80 m(PVDPS)maﬁn 2
ti&*ﬁﬂﬁ)ﬁ) ﬁ[ﬁg:[
Efe _,Mﬂaﬂﬁﬁaﬂéqﬁ
Wﬁ“’?tﬁm@mmﬂ E

Hifea I 2 |
(A) 3 5=

- (e (.

o =

—

o

(C) Tsin
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e &
17.  URL stands for { 17. qem'qa;ai it IE%E
(A} Uniform Resource Locator A qf”i_”i Pt
(B) Uniform Remote Locator (8) qHH ffle Frehex
(C) Unique Resource Loader (C) gfe fratd st
(D) Universe Resource Loader (D) g e wiren
18. The Article of the Indian Constitution which 18. T HRYR w1 FH-T1 gy e afn
protects the life and personal liberty ffea N H@g ?
(A) Article 20 (B) Article 19 (A) 3TT=0% 20 BT IR 19
(C) Article 14 (D) Article 21 (C) =BT 14, (D) =¥z 21
19, Index is used for Wﬁiwwﬁm%
measuring inflation in retail prices. 9 % A S B | %}?
(A) CPI-IW (B) wpI (A) CPI-IW (B) wprI (e
(C) WPI-Iw (D) None of these (C) WPI-IW (D) ‘sﬁﬂﬂ-ﬂ'{?ﬁ
20.  Which of the following is example for simple /2 Feafafea & @ FH-| W@ = Ll
p
umbel inflorescence ? FREOTR ?
(A) Onion (B) Fennel (A) @S (8) Hi®
(C) Coriander (D) Carrot (C) ufn (D) TSR
21. Which part contains the fractions in @ T & -3 fiym AR H § 7
ascending order ?
16 16 11 16 11 16 16 16 11 16 11 16
[A] e R B P - P R R Bt T, —
19°21' 14 RS TIETIETIIR() g 19°21'14 T ey 19
11 16 16 1 .
[c] __r___l-__ (D} -_61-1_1-11 (c’) H!-]._G_IEE (D} _1_6_:-1_];!E
14 19 21 19 14 51 14 19" 27 19 14" 21
T EedTa et .00 | () ek swn s o careg
the male member. p js the only son of C, who Ak Bmwﬁ |Ag TR | b,C
is;‘thg br?‘ther olf A. E is the sister of p. B is Wmﬂ"fﬁgﬁﬁAW s E,DH)
the daughter-in-law of F. whose husband h foay
passed away. ) . 0. has TR | B,F ﬁa—ﬁ% wﬁrwg&:ﬁ |
WhoisC to g ? CBFI®MY?
4 ot v AT
on-in-law . _/I-C) s (D) Tmre
23. A cu::;el is cut in s €Qual parts along a plane O 7 ) 3 g BT 3 363 o e 35 e
parallel to one of its faces, One Piece Is then ¥
coloured red on the two larger faces and green T I ST Iﬁtqa;g?ﬁ,}éaaa%
on the remaining, while the othey Is coloured T et st 9y TR Y o S |
green on two sr;a!:flrs att#:;eclt‘f?nies;nd red on T H D DR a1rem g o T 3R S e @
the remaining. Ea ©32 cubes of B &M e | R T 9 T sy 3 32
same size and mixed up. T a— SRR 3 i
How many cubes have only one coloreq face 5 Nty ”ﬁﬁ%ﬁ;l?ﬂ & s B fFA
each? B TSR
(C) 32 oys ¢ N, - (€32 (D) 8
r _‘L‘.
N < &
T\ e F ¢
i—ﬁ < @ \_
D )
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24. domain type'is used by-US military | 24. o v L A1 | T
sites. ] _@_‘ng |
(A) ore () mil ~n. (A) org mil
(C) comp (D) net (C) com (D) net
25. The largest river in Peninsular India is 25, ST MR TR
., (A) yarmada_ ;' (B): Krishna S (A) THET (B)- &
(c) Godavari /1 (D) Cauvery, e e (D) Frad
26, Secretariat of BIMSTEC is located i @ ﬁ@ﬁﬁ(BIMSTEC]H?mﬁ‘:ﬁﬁW Aok
(A) Beiiirlgl"“ (B) New Delhi (A) iﬁfém (B) 74 fewedt
(C) Katmandu (D) Dhaka (C) HTEATS, (D) Tl
27. Jatin travelled from his, office. straight for 217. S ST gRR A HHT400 m=ears | Rl
400 m. He then turned. Ieft and ' travelled .. Ezq;{goom;ﬂmaamg,ﬁaﬂsmg:l:mi
500 m straight, after which he turned left again hieSd g!éﬂ.%-aﬂt 400 mET I e, fir gTd gl
and travelled 400 m straight. He then turned | %3600 mlﬂ*ﬂ?ﬁ?ﬂ% |ﬂmam
right and w?Iked for another 600 m ‘straight. ' w27
How far is! he from office ? " e
: B) 1.1k
) 18km i3 @) 11Ikm ‘ (A) 1.8 km ) m
(€) 1.0'km TFb| Ahe (D) 14I<rn C k o (€) 1.0km (D) 1.4km
28. Which of the following statements aretrue ? L zb frfeifaa & @ FA-91 FI aae’ WWIEQ
1. LC:M.'of 10a’bc, 153bc ZOEibzt:2 is - 1. 10a’bc, 15abc, 20ab?c? 1 T TS
120 a’bc™ - s (a8 120?81 »
20 H.GFiof (x* -6x+9)andlx’ —97)is | V15 (x‘—sx,+9)aﬂt(x —27}31‘[113311 [\\ §
(x=3) i 3 0 i g (x - 3) ¥ | @
3. H.CF.of (6X = 7x 3) and (2x34 11X~ z:g is 3, (6x2 = 7x - 3) 3 (2 + 11X —znm Iﬁﬂﬂ
G ) e (2x-3) 1. Q
(A) 2,3 z (B)13 ' (A) 2,3 (8) 1,3 ¥
(C) 1,2, 35 (D) 1,2 ’A' 51,253 (D) 1,2
29, Several ribgsomes may’ attach to-a single 29. ﬁﬁtﬁmuﬂiw mRNAﬂW@Eﬂ
‘mRNAand form a chain. called oK =1 A & ford el St aE
§ (A) polyps ®) poIWestsq‘ (A) wﬂm (B)
{C) polysame - (D) polysacks R. e (p)
30, The lines connecting places of equal amount of @ ﬁ‘fh?l wﬁﬁ 3 g e & et 9 El
rainfall over given perlod of time is called as S F aﬁgﬁmaﬁ't@n FEAT
(A) TA) Isonephs (B, lsohels (A) (B) REIRd
(C) Isobars (D),tlsohyets (C) STTFEER (D), SEEETEH
31. Assimilationisa process of “4in which SATHEIG FLl . HTH Slﬁjﬂliﬁmﬁ
the groups:acquire the | memories, sentlments L e, aﬂ afl“( | m{gi =5 qﬁﬁm e
and attitudes of other groups. FH 20
terpretation and coordination, (A) RTTW Ty
( Interpretation and facl|itatian " (8) w aﬂtgﬁm
(C) Interpretation andfuslon . = wne (C) ~re 3fR e X
(D) Facllitation'and Integration 2 h*\] (D) g el TR
4. N
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32, Heli borne survey technology
— —

lay_rlcﬁﬁﬂ_y‘(.‘g_ntral Government for
(A) Groundwater management

(B) Post-harvest technology

(C) Disease management

(D) None of the above

The Standard Mer
the city of

(A} Calcutta _
(C) Ahemadabad

recently

33. idian of India passes through
(B) Chennai
(D) Mirzapur
34. A tradesman sold
If the selling pric
Rs. 100, there wo
The cost price of
(A) 400 §

(C) 100 ™

an article at a loss of 20%.
e had been increased by
uld have been 3 gain of 5%,
the article (in Rs.) was

(B) 500

(D) 200

35. Which nutritive tissue supplies food to_the

290 to_th
developing pollen grains ?

(A) Tapetum (B) Endodermis
(C) Trachieds (D} Pericycig’
European Atomic Energy Community is
(A) EUKASH (B) EUTOM

(C) EUREKATOM (D) EURATOM

At what time do the hour-hand afd the minute

hand of a clock coincide between 4.00 a.m,
and5.00 a.m. in a day?

36.

37.

O, 40
ﬁ%

7
A 4:222 s (g 4:22-Lam,
11 11

9
(C) 4:21Ham (D) None of these

38. In_thi guestion, two statements are given
_{--.;.olmm%a by two conclusions, Choose the

conclusion(s) which best fit(s) logically.
Statements

1. Some planets are sun.
2. Nosunis star.
Conclusions :
I. All planets is syp,
Il. No starissup,
(A) Both conclusions | and || folloy
(B) Neither conclusion | nor Il follows
lusion Il follows
C) Only conc of,
{(D}) only conclusion'hfollows

CMMS - 51
;.\%aﬁmaﬁwwﬁmmﬁﬁamﬁr{m
et RQAE A
Wi et YEuA
(B) T UvaTd daie
(C) T weem
(D) 390 # @ Fr T
33, mmmm@ﬁmﬂﬁ@ﬁw@?ﬁ
22
(A) e BT =13
(o i (D) Frsiq

38, AW T w St 20% 1 TR T 3y |
afe ma.ﬁomﬁmmaﬁ‘sﬁm

1 A T B | 36 G F 54 e (v o)
framar ?
(A) 400 (B) 500
(C). 100 __Ip¥ 200
#r-mm?mﬁmmhamuﬁaﬁtﬁm
£ Fare ?
(A)agftr (B) Usrefifg
(€) Sham (D) Wasfre
36, vmwﬁuqmq;mfagzrq%
~(A) EUKASH (B) EUTOM
(C) EUREKATOM (D) EURATOM
wf&ﬁwﬁﬁsaﬁ%a‘\aﬁmm@%ﬁﬂ
q‘%aﬂtfﬁqzam{étﬁ—@i%wﬁ?ﬁ%?
(A) 4:22-19—la.m. .(B} 4:22%a-m-
(C) 4:21%a.m. (D) ¥ A ¥ 7
38, "wmﬁ,awﬁw%ﬁrﬁmaﬁm
0L 8 1 3 Rt e 0 o, o
ak:ric ¥
R : ;@ﬁ
1. FBE |
2. T g A}
mﬁ@m |
I. wvft g |
. % TR
(A) Tt | affy )| 2t = §
(B)q?ﬁﬂﬁﬂ;“ﬁnm?%
Il AT
(D)ﬂaaﬁq&mmmm%
s
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1 examiners can examine a certain number of
swer books in 8 days by workirig S hours aday,
r how many hours a day would 2 examiners
e to work in order to examine twice the
umber.of answer books in 20 days ?

A) 9 hours (B) 8 hours
C) 6 hours (D) 7% hours -«
_ N %

 family consists of nine persons A, B, C, D, E,
. G, H and'l in three generations. There is a
eacher, a principal, a holse wife, B
1 doctor, a singer:and three. students. All the
students are.unmarri :

r ngm ried and,there are thro€"
married cd_us'\ siin the--fa'mlTV. Doctor is fhe |

i

father of astudent. A s the grandmothepof G. |
E, a'student, is the sister-in-law of.C; ahouse-
wife.'Doctoris the son of B, principak.There.is
great,bonding between H and his uncle Dql is
married-to-manager F. How s B related to.the)
e
nnot be determin i

(B) Father sty ?\g,p, o

(C) Husband B\ (het |

(D) Father-in-law e q}-@
ons Q, No,41243; Read thefolowingnforrion
werthe given questions.  ~ o«
irector of the Institute has announced that-
e gc’t;u&e;ﬁn different-areas like:keadership,
ion Making, Quality Circles, Motiygtj‘l_gn,__ ¢ "oyt
.sment Centre and G rdhp‘Di’s‘@ussi'i_:iﬁ are tobe
nised only one on e4ch day ffém Monday to
jay. - SR

SHIF

|. Motivation -sho'ulﬂflie'fdrgariibe&?

immediately afte‘r'A’ss’é'ﬁ’sni&nf‘f!ﬁntrgm% _

. Qualityy Circle should;be; organise g;,pn,

Wednesday and should not be followe

e |’

bylGroup DiscUssion.

i #Decision Making should be ‘organised on

" 'Friday and there should be a gap of two

" days petween™ Leadership and ‘Group
Discussion., . 3

IV. One day ther,g .gvﬂl be no ;Iet_:tureh-(Sat!.EHay

is not that 1|;l:_ai__\§r),""just before that day.Group

Discussion will be organised, :

organised ?. w18
(A) Tuesday (B) Friday.

| e AR Y

Which day willthe lecture on Leadership be:

roup "HaryanaJobs.in"
CMMS -S1

nﬁurﬂﬁﬁ:lﬁsti%mmsﬁﬁﬁ@
A dem 3 IO g # 9 I

t,m@wﬁﬁmdﬁnaﬂzoﬁﬁﬁm
FQ % fore 2 et A A & 12 T el

g ?

(A) 9% (B) 8% _
(GF'6 e (D) 7THER

e wiam ¥ i ifet 3 = =fi A, B, C, D, E. F,
G, H 3l 1 2% & | 3l o Riereh, O U,
o TR, T Ve, T S, T T
fichtoe gl o afiated & ot afEn i

I i faarfed | STt o o 1 AT R | A,
GH TR | E,ThHOH, c it 3 9 o et

Nisr o ) 5 Fifte 8 39 0,
e P, e 3, 0, e S
T SR SITEH WA A R T {87 T
v fof e |

l.' : . a’_ﬁ% r e ﬁﬂl
o gl TR R S SRR e
V57, ok e e % sl e e
e 3h e i ag e e el

i

A

. % R 8 e e (e € R
oy TR, S TR Wy = s
W el

o a1 T R A S frn s ?

(A) ATCTATE SN (B)/ YFaR

(€) WEdhesd"aj{

(GRS /wﬁﬁﬁaﬁ\hﬁ
A
FHom\a

B

oy g B, fiftoe o A | H 3R W S
i 'anjiiihﬂmaaﬂaﬁhtuﬁﬁg@ﬂﬂmp \3‘6
WRE" 3 w8 | B, 2 e /i R Y T (
(A) Frufea et foran s Tl
(a)'ijg )
- ©F =
| o (2
a1 43 AR 4 1 e ) e & o 3



Join Telegram Group "HaryanadJobs.in"

b

42,

43.

45.

46.

47.

48,

49,

How many lectures are organised between @ Waﬂtﬂf
Motivation and Quality Circle ? e ST ¢
(A) Four (B) Three (A) 9T
(C) One (D) Two (C) T
Which of the two pairs of lectures was 43. EF‘FI Gl 3‘”@‘
organised on first and last day ? -
Quality Cirtle and Motivation_
(B) Group Discussion and Decision Making
(C) Group Discussion and Quality Circle C)
(D) None of these } E:I'Ef 1:’! &
I
Programs that multiply like viruses but spread 3 u‘mm Gﬁ 3
from computer to computer are called as
(A) Vi i p (B} Boot “E"é'g M
) Virus ) Boot (A) ATETE
(C) Worms (D) None of these
b \-
It refers to the denial of opportunity for living/|/ 45) ¥& TH et
a tolerable life Hefifq =t ¢
(A) Economic poverty WW
(B) Collective poverty 7 (B) Wmfe
(C) Income poverty ; (C) ¥ =
(D) Human poverty ’ . (D) HHE TLE
The Logo of Reserve Bank of India 46. R fed o
consists of which animal ? e i
(A) Tiger (B) .Dog ./f{)liﬂﬂ
(C) Lion (D} None of the above (c) fe
Corals have a skeleton composed of T T T
(A) calcium bicarbonate (A) FimEm
(B) calcium carbonate ﬁ-ﬁmm
(C) calcium sulphate (C) Hfcyram
(D) calcium hydroxide (D}_W
Train A crosses a stationary train B in | A AT R
35 seconds and a pole in 14 seconds with the A ‘
same speed. The length of the train A is 280 AL
meters. What is the length of the stationary -QSOIﬁ?{% |
train B ? / &
(A) 400 meters (B) Cannot be determined (A) 400 Hiex
(C) 480 meters (D) None of these (C) 480 Hi
No person accused of any offence orcrimecap | 49. Tt +ft amw:
be compelled to be a witness against himself/ MERILRICIEE
herself. This is termed as BRI
(A) Right against self-incrimination (A) HATeH-3T
(B) Right to remain silent (B) TY & 3
(C) Trem &

(C) Right to privacy
(D) Right to freedom of expression

H,,/}L/

e




B

50.

51.

52.

53.

54.

V4
£ /[ o’(-l\f

2,

56.

57.

58.

59.

\s ¥
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in which of the following interaction only one
of the species is benefited ?

(A) Competition {B) Mutualism

{C) Parasitism {D) None of these
India has become Second Largest Emerging
Green Bond Market after

(A) EU (B) UK

{C) China (D) USA

Those who are working in the formal sector
enjoy \
{A) Cultural benefits

(B) Social security benefits
(C) Economic benefits

(D) Educational benefits

The results of 21 matches {(WIN, LOSS, DRAW)
are to be predicted. The number of different
forecasts containing 18 correct results is

() M€,y (8) ' y-2°

(C) ¥C (3)? (D) 'None of these
when did Portuguese traveller Nuniz reach’
the Court of Vijayanagara 'S

(A) 1567 CE B) 1556 CE
(C) 1520 CE (D) 1535CE

55. From the given alternatives find the

correct relationship that holds the two
terms together.
FlULs,B0OQQ:
(A) HMEC: (8) HMEMYZ 1,
(C) HCMM, _A®T HMNC A ™"

Thick cuticle on their leaf surfaces and have
their stomata arranged in deep pits is a
characteristics of 3

(A) Mesophytes
(C) Desert plants

connection
to Tink two or more sites
Leased line

charge.

{A} Broad band !B;

(c) 1sDN p) Cable modem
Chaudhary Charan Singh Haryana Agricultural
University established in

(A) 1980 (B) 1975
(C) 1965 (D) 1970
A tax that the government Imposes per unit
sale of output Is
(A) Gift tax

(C) Direct tax

s LHRX:?

i, M

(B) Epiphytes
(D) Hydrophyte plants

is an affordable: way
for a fixed monthly

(B) Unittax
(D} G.5T»

\4{3,\1}‘\

3.

CMMS - 51

50, Pretferian i A fir smifen &
aomrent? S G

ui (B) s
(c) weahfemm (D) T & Y T
51, W@ __ % @’ gE wad @l WA
Eﬁ?lg%mnaqw’u &
(A), (8)
P (D) 7w
52, ﬁm%ﬂﬁmmﬁﬁ,% F
are e | oA
(A) QiEHfF T
Pl AT L& v
(c) fd= @,
R UCEIS I
g3, 21 &9 % oRom (WIN, LOSS, DRAW) H
qﬁrmwﬁﬁwﬁ%uaaﬁq&mq‘iaﬁﬁfw
qatgal A
ncm (8) ncm'za
(€)2C,, (3P _ (D) T A A
54, gﬁfﬂiﬁ%@mﬁﬁﬁﬁ?
(A) 1567 St /B‘)/lssa‘éﬁ‘l
(c) 1520 (D) 1535 §&ht
55. ﬁqmﬁaﬁﬁﬁﬁsﬂq’aaﬁgﬁsﬁaqﬁ%aﬁa
e Gey U 8 | ‘
FJUL:BOQQ :: LHRX :? %ﬁ
(A} HMCC (8) HMCM ®
(C) HCMM HMNC
56. of g W WA B sl v gu emEfeE W
£ e frsen 2 1
(A) THERE (B) 3tfraEg
.//'31 TEEgE el (D) STAg]eR e
57. aﬁam@ﬁﬁufﬁanmwﬁam
AW uﬁmwﬁﬁsﬁgﬂmaﬁumil
(A) STe ¥E (B) WErFA TEH
(€) TREAT. A e wien
58. a\uﬂamﬁsWuapﬁﬁnﬁamwﬁl
HEES !
(A) 1980 (B) 1975
(C) 1965 1970
59, 5 R R T 7ot forl o AT @
(A) FTBR T (B) YT
PRREER /ua) Hwmd.

N



e i of BT Plagg BTN Tyt e

s (Nssr)aﬁ’rmcmaﬁ____ﬂwﬁ‘lgh
with effect from the year

B) 2019 YExm

(A) 1999 (B) 2019 (A) 1999 x (8) lo75 @

(C) 1969 (D) 1979 (€) 1969 Pl g
61. is an amphoteric oxide. . T Iy Aiqase 2 |

(A) ALO, (B) K,0 | (A) ALO, (8) k0

(C) cuo (D) Na,0 (C) cuo (D) Na,0 .
62. If the diameter of a cylinder is 28 ¢m and ﬂﬁ@ﬁﬁ'—]ﬂﬂmzs cm? WWW

its height is 20 cm, then total surface area 20 cm %,H’IWW LT (em2#d) 2

(in cm?) is

(A) 2229 (8) 2992 (A) 2229 (B) 2992

(C) 2993 (D) 2292 (C) 2993 (D) 2292
63.  The ‘Nord Stream 2 Pipeline (NS2P)’ recently -) T @ 8 ==t d m i =i o NERGIERS

seen in the news connects which of the (N52P¥ Fefefaa Ta E’I%&ﬁ‘q’ﬁ

following two countries ? et @ ?

(A) Germany - Russja (A) s - wH

(B) Germany - France ‘. (B) st - )

(C) Denmark — sweden (C) T - ey

(D) U.S. - Mexico (D) U - AfFgy
64.  Whatisthe minimum number of cuts required {7 g4 TH YT F) 324 ZHe w3 fore sifesa @z )

to cut a clibe into 324 pieces ? AITH TR 7

(A) 20 (B) 19 (A) 20 (B) 19

(C) 18 (D)- 17 (C)-18 (D) 17
65. The Tertiary Sector of Economic activities (g5, aﬁmﬁﬁhﬁa‘i%m a3 1 yifirer ¥

includes

(A) Transport (B) Banking (A) Tieeq (B) sifm

(C) Education (D)., All of the abiove (C) T . wft
66. ri

efers to the number of pixels in 66.

the horizonta| and vertical directions on the
screen.

(A) Color depth (B) Resolution (A) T Terpa AT e
(C) Refresh rate (D) Dot pitch -(C) Ty ¢ (D) ez iy
67. Kala-azar disease s caused by 67 - IR
. FUBER |
(A) Anor?heles (B) Elephantiasis - (A) Cifes (B) wferhfeufey
) Lo . °
(C) Leishmania (D) Malanar\ TR (D) waifar |
68. Select the correct mirror image of the given | ¢ A il
_ _ . 1 9 2d0 wRifig I S gqur )
figure when th
gure Ihe mirror is placed at line g, LGy ABWI@: TR |
A5ThRO>?P gﬁﬁ ASThRO>?p
NERE
B

(A) V2LPEO>Sb  (g) 9<CoSIHT? A

B
(A) V?-U-'KO:"L B) 9<SoSIHTZA
(C) I°<OAdTCA () VLHEO >, $ (B) 9<SoSIHT

/(a °<0s1dT2 5 (D) V2IHKO3>h
-10-
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(A) Madanlakg (‘3‘7

(C) Rasbihar QZH ( é gai‘%m G
The final match of Durand Cup football was /
held at

(A} Bhuvaneshvar
(C) Kolkata

(B) Chennai
(D) Hyderabad

Consumgnon which is is independent of income
is called as

(A) Wasteful Consumption
(B) Past Consumption

(C} Induced Consumption

(D) Autonomous Consumption

Four-fifth of ‘a number is more than three-
fourth of the number by 4. The number is

(A) 84 (8) 80
(C) 64 (D) 72
|
73. i5-a input-device.
{A) Keyboard (B) CPU

(C) Motherboard (D} Moniter._

is the most successful and widely
used artificial sweetner which is roughly 100
times as sweet as cane sugar. .| " .-

(A) Alitame (B) Aspartarnelm ’q
(C) Saccharin _ .. - (D) Sucralose Qﬁ%
The emerging novel concept, is a zero -carbon
fuel made by electrolysis using renewable
power from wind and solar to split water into

hydrogen and oxygen
(A) White oxygen (B) Green oxygen

(C) Green hydrogen (D) White hydrogen

A meaningful word starting with A is made
from the 1%, 2™, 4", 5" and 6" |etters of the
word ‘CONTRACT". Which of the following is
the middle letter of the word ?

Foup “I—mgg'aJo@gﬁhﬂ“

w wmmmwﬁuﬂa % e |
(A) W (8) ==
(C) Shersh (D) TG

71. 3 | WO G FEer &

' (A) =5 @um
(8) 9 @ya
(c) fa @

AD) EHIE G

72, UF G 1 IR-Yied Y HEd1 & - @
s R | dE R
(A) 84 /ﬁﬁo
(C) 64 (D) 72

73. UF 3 2

LICIER (B) @ty %
(c) uaaaﬁ-s‘/‘f" (D) n‘r-ﬁq
gatfies gee i gga §9 8 W&

#1 < e Ffm v R, AR =
TR & 100 TN 31fire HiE § |
(A) Teim (B) wEmRn
(c) A * (o) gFTE,
IR T BT T Y FTEG I R Aferefio
¥ gt % Tou v o 5l @ Aol I
SR % I R T7He T O I FEA
e CiCI b .
TA) W Al (B) whe im0
(C) & T (D) Yo ETEgW

5 ‘CONTRACT' & T&dt, W, =, qfed 3l
BIHMAAY ﬂaﬁﬁmmmﬂmwm

T 8, T T WEq T &R F :
(A) T (B) R BAC o1 -
(€ c (D) O

A) T (8) R
{(C) C (D) O C,/<?'J\
4,12, 36, 108, 7 e 77. 4,12,36,108,7 _ P/
(A) 364 (B) 324 (A) 364 324
(C) 180 (D) 240 (C) 180 (D) 240
-11- N
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78, -

79.

80.

Join Telegram Group "HaryanadJobs.in"

81,

82,

83.

refers to the motherboard's gometry,
dimensions, arrangement and ~ electrical
requirements.

(A) Circuit Board

(B) Processor socket
(C) Form factor

(D) Chipset

A badge having two Stars and a Ribbon %" in
width, half red and half blue worn horizontally,
red colour facing the stars belongs to

(A) Head Constable

(B) Assistant Sub Inspector

(C) Inspector

(D) Sub Inspector

The efficiency of Carnot engine is 50% and
temperature of sink is 500 K, I temperature
of source is kept constant and its
efficiency raised to 60%, then the
required temperature of sink will be

(A) 500K (B) 400K

(C} 100 R=-. (D) 600K

The Labour Ministry has launched the National

Database for Unorganised Workers {NDUW).
Itis )

(A) e-Dhan bo&al

(B) Shramajeeviporta|
(C) e-Shram portal

(D} e-Ruju portal

Study the following number sequence ‘and
answer the question given below it.
51473985726315863852
243496

How many odd numbers are there in the

sequence which are immediately followed by
an odd number ?

{A) More than 4
(B) 3
(c) 1

ERiE
D) 2

The fourth term of the series whose n'"term is

In+2 is
5

(A)3

(B) 14/5
(c) 12/5

i (D) 13/5

The Woman leader Kanaklata Barua who

Participated in the Quit India Movement

belangs to A (8) Bih
(A) Bengal gar
(C) Odisha (D) Assam

CMMms ~91 .

1 g TS Eﬁ‘rm o
ey 3R sAfFge ST '
(A) T2 Wt (B) SR Wik
(C) i dae (D) ferde

o A forert Q) iR i % gl 1w oy
o 3 el fien AN S A I Em o
L el

C

FHIE 99 A e 0% 3 i w1 oan
500K & | 3fa Hi =1 a1 Frega wan smen 2 o sa)

& 60% a5 Tl 2 | e &7 Aifvd qrg g
(A) 500 K (B) 400K
(C)\100 K (D) 600K
81,9 el # ey i % R g
szeE Y& R d T d
(A) v Oidm (B) st 9idw
- i (D) 3w
82, ﬁﬂ%ﬁaﬁ@%mmmﬁ i A= fag
I I
%ﬁﬂﬂ@zs@sssaasz
243496
oaen 3 e & s g e o
o gem 2 7 T
4% stfirs ®
(€)1
(D) 2
mﬂﬁmwammmnai
! T2 3n+2
(A) 3 (8) 14/5
) 12/5 (0) 13/5
FHAN Ty i;mai'hm*ﬂ..____ﬁﬁ
(B) forgm
4/(3 St (D) 3r\y

12-
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85.

87.

P20

There are total of 41 “students in a class.
Each of the.students can play at least one of
‘the three games — Badminton, Football and
Hockey. The number of students who can
play only Badminton and Football is 12, only
Football and Hockey is 14 and only Badminto

and Hockey is 10. The number of studen

who can play Badminton is 25. If the numbér
of students who can play only one game is the
same for all the three games, then find the

number of students who can play all the three
games,

(A) 10 (B) 4
(€)1 (D) 2
SDRAM stands for

(A) Standby Dynamic Random Access
Memory *

(B) Systematic Dynamic Rando
Memory
{C) Static Dynamic Random Access Memary

{D) Synchronous Dynamic Random Access
Memory
*

Under this Section of CrPC, a person who

is avoiding execution of a warrant may be
proclaimed absconder

m Access

-13.

(&

w41 3 Tt 41 O § | 39 @ yAF oW,
%ﬁ,ﬁ?ﬂwm,ﬁm@ﬁﬁﬁm
3§ T A A g § | daet peater oM
Aefier A ol B dEn 12 3, 9w
GeaTe i BT eram 14 ¥ ol e Fefiie
3 7 @t 10 ¥ | Asfie deEe ol
EAEH wEw 25 1 Hae T AW Ao ont A
ﬁ%mammh%mﬁm

TN TR m S w7
(A) 10 (B) 4

(©)1 (D) 2

86. WH.q.AM.U.H. F Hawa
(A) Teams s Yo wdE
() RRifeas errifirs Yeu waig duvg
/fmmmmmﬁﬂ
(D) Rsata srarfiven Yew v Ay

(A) 84 (B) 83 - --.[(8) 84 (B) 83
(C) 81 (D) 82 {C) 81 (D) 82
Amrita Devi Bishnoi National Award is instit ted 88, T Tl 1
by Government of India for e e m%g WMMW
(A) Energy Conservation (A) s Tegmo ’
(B) Water Conservation - (B) vt wtemy
. (C) Wildlife Conservation I S gy
(D) Lake Conservation (D) #a wrany
The focal length of a convex mirro Cﬁ'lﬁa a‘ar§ ﬁ‘rm-aﬁ EFI ﬁan
radius of curvature js 32cm " Whose 1;?::_‘; .
(A) 16 cm (B) 30em (A) 16 ¢m
(C) 64 cm (D) 32¢m (C) 64 t8) 30cm
| tm (D) 32¢m
———— IS an expansion carq that all;:w t 90 ﬁ“?ﬂ'm FE 3 y
computers to ¢Gmmgn; o R
phone lines, ~ —— -3t OVer ordinary F B T % maﬁ z’t%
(A) Video carg m l o
(8) PC card (A} i g .
lC§ Network Interface Card (8) .4, b
Modem m'ﬂﬂg
(D) Wiy

L\

\"

N\
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92,

93.

94,

English Language

Fill up the blank in the following sentence using

e Noun forms of word given in bracket. %,
The accused hag nothing to say in his own
~——__ (defend).

(A) defendable (B) defensive

(C) defeng ’)1 defence

In the followi
followeg by
by a, b g

"B question, there is a statement
three starters which are denoted
nd ¢, Each starter is a Broup of the

m grammaﬁcallz correct

sg_n;gncels[ to convey the same meaning as the
original statement. =

N_gﬁher of her sisters |s ag beautiful as she is.
a. Either has sisters
b. Both her sisters ... ¢
¢. She is more .,

(A) Only a {(B) Onlyc

(C) onlyb 4/‘9) None of these

Fill in the blank with appropriate\modal'f;

m
the alternatives given below them.
It rain tonight.
(A) shall /ﬁrmay
(C) can (D). could

Choose the right meaning of the
Idiomatic expressions from the

alternatives given below it,
Have an axe to grind

(A) Having great problems *
(B) In a difficult position «

(C) Having private reasons for being involved
in something

/wyoeliberatelv avoid something/someone

95,

Choose the right synonym of the given word.
AuDpAcious (

daring (B} babble
/(g)rastound (D) fragile.

CMMS -s1

@ &Ezm‘aﬁ' SIS T
flwmaag,

(A) qorteraiieres
(B) saTH

(C) sTquiterateres
(D) 518 ¥ 1 7

WW%%%%%?

(A) o=

(8) W)

(€=

(D) &8 § 1 i

98" ‘=31 1 vafaTe vz
AT stfirermer
(B) T8
() Frorem
(D) ¥ & =1 78
99. émﬁmﬁr*ﬁumm%.aﬁ
5 Fogdl § |
AT Tty
(B) ®g
(C) sy
(D) 579 @ #d
100. ‘TywfRy’
T EE
s (B) ¥TRm
BR%E () Fw
(D) ¥ 2 =g gy
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